INTERMEDIATE EXAMINATION — 2019 (ANNUAL)
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Instructions for the candidates :-

RIeefT JATAIG U &l H B IR < |

Candidates are required to give their answers in their own words
as far as practicable.

ST SR B W & g o gurie fafde ava 2

Figures in the right hand margin indicate full marks.

IR & T TRt AU eq—HT BT T I |

While answering the questions, candidate should adhere to the
word limit as far as practicable.

30 YT YA DI YD s & oy 15 M @1 aifaRed wwa fear
AT B |

15 minutes of extra time has been allotted for the candidates to
read the questions carefully.

Ig YU q WUl § B, WUS—3 Ud WUs—4q |
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This question paper is divided into two sections : Section-A and
Section-B.

Gue—3f H 35 RIS U T, T U A 2 |

OAs & for 1 o iR ), g9@T SR SUAY W T
OMR—=3ile % f& I A&l g Bl Blel /el dfct U | WX | fHfl off

JHR & @FeR /TRl Uit /@fs /g 3nfe w1 OMR 3fie # gy
TRAT F7 7, AT WelT IR g 81T |

In Section-A, there are 35 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Gus—q H IR—qES e | 34 18 c»igsm“m g g, fo 9
fFgl 10 Ul @& SR 1 AFER B TP U D ol 2 ofd

feiRa 8 | g7a orfiRed wve—a # o6 < ITRIT yed Y Ay 7Y &,
v & fodl 3 yeal & S < aIfard B uS U @ forg 05
s FEiRT 2 |

In Section-B, there are Non-objective type questions. There
are 18 Short answer type questions, out of which any 10
questions are to be answered. Each question carries 2 marks.

Apart from this, there are 6 Long answer type questions, out-of



which any 3 of them are to be answered. Each question carries

5 marks.
frefl TRE & sl Fe—a3 &1 swHd afoid 2 |

Use of any electronic device is prohibited.
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Section — A (Objective Type Questions)

yo FET 1 W 35 O SRS ue € e 9 9R fawen foy U €
R W TH A8 ¥ o ERT gAY W Ao B OMR—¥e wR fufed o |
UAd Yo B forv 1 3id FeiRa 2| (35x1=35)

Question No.- 1 to 35 have objective type questions, in which four
options provided out of which only one is correct. You have to mark, your

selected option, on the OMR-Sheet. Each question carries 1 (one) mark.
(35x1=35)

1, forfoRed el o fead IR X @1 Hed @AY § °
A TERITR B. BOIgR C. amr D. IR

Which of the following towns has Indian railway zonal

headquarter?

A. Samastipur B. Hajipur C. Ara D. Buxar
2. fermfoRad sl § e oY) Suit |4 e § ?

A. fdgr B. SR Ua¥l C. araH D. 994

In which 6f the following states atomic power plant is

established?

A. Bihar 'B. Uttar Pradesh

C. Assam D. Punjab




fRiferer &=l  g—Ffaxor &1 v eRor @
A. d1g 3uREH B. Rice &1 SE
C. JaAfrdI IURE D. 91 <Tquren

The main cause of land degradation in irrigated areas is :

A. Wind erosion B. Siltation

C. Gully erosion D. Salinisation of Soll
frfther TeR &7 e -

A. fregare & B. Wvadre &

C. Fa—fwagars D. ycgerdrs |

Griffith Taylor is related to :
A. Determinism B. Possibilism

C. Neo-determinism D. Positivism

g8 ¥ B SN YRAIY 9N T8 © ?

A. SreTel B. smwR
C. 3OTHR D. 3EHETR
Which of these is not a north Indian town ?

A. Ambala B. Amritsar

C. Ajmer D. Ahmadnagar




IRfIhT Th f 3

A. 3IYH BT B. oUNT &1
C. g &1 D. BBl BT

Arabica ié a variety of :

A. Mica B. Cotton C.Tea D. Coffee

udal R fow uferey &1 axi arll Ol § 2

A. JATIATHR B. &

C. Higrgar D. gaTerR

Which pattern of settlement is found on mountains?

A. Rectangular  B. Linear C. Terraced D. Circular
freferiad § @9 TR T4 d¢ W @Red T8l & ?

A. 3R B. HIuTal

C. ue D. ®IcTerar

Which of the following cities is not situated on river bank?

A. Agra , B. Bhopal C. Patna D. Kolkata
frafaRad § ®1F WEd SET arar &3 8 ?

A. 3TcThTHT B. yHeIATY
C. g D. fayaavda
Which of the following is a densely populated region?
A. Atacama B. Mediterranean
C. Polar D. Equatorial



t0.  FrefuRan wodt § I waifte 1 Swee @ ?

A. affeTg B. UuTe

C. axd D. 3r9H

Which of the following states is the largest producer of Wheat?

A. Tamilnadu B. Punjab C. Kerala D. Assam
1. OFYIGQR cleT Ud 3o §aF fha rod d Rerd 87

A faER B. afifesm

C. 34 : D. sIR@Ts

In which state Jamshedpur iron and steel plant is located ?

A. Bihar B. Odisha C. Assam D. Jharkhand
12. fFrefaRed § SN SH-AMRRY & Ifey dR® 8 ?

A RISHTRY B. &8 @I 318! UMY
C. wnifa vd il D. 3/ el Sierdrg
Which of the following is a push factor of human migration ?

A. unemployment B. Better living conditions

C. Peace and stability D. Favourable climate

13, SR &1 g™ fod TR 4 sraierd 87
A g faeell B. STl

C. Bl D. &I




14.

15.

16.

In which city ASEAN headquarter is situated ?

A. New Delhi B. Jakarta

C. Colombo D. Karanchi

frfaRaa § o9 |rfiT® i &1 Sues T8l 7 ?

A FIERATEI e B. UfeiRie e
C. fafes e D. ferfdear et

Which of the following is not a sub-field of social geography?

A. Behavioural geography B. Historical geography

C. Electoral geography D. Medical geography

T F8Y 3fedlfied AR &l Sisdl & :
A AT IR 9 B. fia1 9"R 9@
C. BTl IR 9 D. 93Iid 98R 3

Panama canal connects the Atlantic ocean with : .

A. Red Sea | B. Yellow Sea
C. Black Sea D. Pacific Ocean

T DI Y I BRI S | HeEd g 7
A. 0—15 B. 15—59

C. 60—75 D. 75—100
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18.

19.

Which of these age groups is related to working population ?

A. 0-15 B. 15-59 C. 60-75 D. 75-100

2011 ¥ 99 fa®Td Gadie § R @ Bife off
A 134 B. 129
C. 128 D. 127

India’s rank in Human Development Index in 2011 was :

A. 134 B. 129 C. 128 D. 127

dfITSC 3IND ©

A. I gq B. dfar

C. vt D. 379 & ®Ig &l
Bauxite is the ore of :

A. Iron-Steel B. Copper

C. Aluminium D. None of these

3 A1 § B AT BT GAlOE IARSD § 2

A ToTE B. dfferrg

C. BRI D. ToRId

Which of these states is the largest producer of Sugar?

A. Punjab B. Tamilnadu

C. Maharashtra ~ D. Gujarat



_ EESSSs - —

20. AT 8% kel © ¢

A. Jcdifed FEMENR &I Y3d HENIFR 4

B. yIid HETENR & fag A8MIR 3

C. e AR & el AR 4
D. BRY W ®I 3RT AFR A

Panama canal connects :

A. Atlantic ocean with Pacific ocean
B. Pacific ocean with Indian ocean
C. Mediterranean sea with Red sea

D. Persian Gulf with Arabian sea
2. PrefRed B e § @ o § § ?
A. RITRIeA B. iR
C. Pl | D. wFmiST
Which of the following coal mines is in Chhattisgarh?

A. Singrauli B. Singareni
C. Korba D. Raniganj

3. W@ﬁmﬁaﬁmwmm—f%ﬁwmmﬁwﬁ%?
A. BT B. @I
C.ﬂ'*%l's? D.Qﬁé?ﬁ__q’
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23.

24,

25.

Which of the following ports is not on the Mediterranean-Indian
ocean route?
A. Colombo B. Colon

C. Mumbai D. Port Said
P 3 Rt & % TRER WA T R TRl T 27
A & &1 AR B. Rigy 3R
C. e ReT D. Rirdrerfirm

In which of the following regions the oldest well-documented

urban settlement has been found?

A. Huang Ho basin B. Indus basin
C. Nile basin D. Mesopotamia
SART TR &g <o ¥ Rerd & ?

A. IRd B. wuret

C. ameferar D. urfdzar=

In which country Canberra city is situated ?

A. India B. Nepal

C. Australia D. Pakistan
RIS &Y ST Bl

A 1 oG 9§ B9 B. 1—5 o

C. 10 &g D. 1 ®3rs 9 31fdh
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26.

27.

28.

Megacity has population of :

A. Less than 1 lakh B. 1-5 lakh
C. 10 lakh D. More than 10 million

fFefaRad § @19 dexme gdf dc W Rea & 2

A Ha3 B. #TaR

C. B D. iR

Which of the following ports is situated on the eastern coast ?
A. Mumbai B. Manglore

C. Cochin D. Tuticorin
3 Il # v AdedIiR ddh-ia) urd T8l 27
A ®HiecH B. afferrg

C. IR D. XIS

Which of these states has no software technology park?

A. Karnataka B. Tamilnadu
C. Maharashtra D. Chhattisgarh
fFefoiad 4 o f9gR # ¥ wae 7@l 8 ?

A. Tmad B. g

C. = D. &=l

Which of the following is not a rabi crop in Bihar?

|
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A. Rice B. Wheat

C. Gram D. Mustard

29. TR T i @

A DRI | B. | T ¥

C. ugifera® 9 D.grT 9

Damodar Valley is related to :

A. Coal B. Gold C. Petroleum  D. Diamond
3.  dgrarEre uRig ©

A ®Ier & forg B. #et & forg

C. dilg a% & forg D. ¥ 9 I &

Balaghat is famous for :

A. Coal B. Manganese

C. Iron ore D. None of these

31 DIIWCR T I ST b b4 g § Rerg & ?
A R : B. df¥errs
C. UoT D. oI

In which state Coimbatore cotton textile industry centre is
located?

A. Bihar B. Tamilnadu  C. Punjab D. Rajasthan

13
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32.

33,

34.

35.

fA=ferRaa # ®1F sienfe = wiRrTe § Reg 2 ?
A | B. ferrs
C. 3T D. iR

Which of the following industrial centres is located in

Chhattisgarh?

A. Salem  B. Bhilai C. Barauni D. Bokaro
$DI Bl IKFBROT sy a9 fopar Trar?

A. 1972-73 B. 2005—06 -

C. 2010—11 D. 2017—18

In which year IISCO was nationalized?

A. 1973-73 B. 2005-06

C. 2010-11 D. 2017-18

WIS e ST R T 9 R 2 7

A drar B. Whg

C. S D. T & F1E i
With which colour Rajdhani channel post is assoiciated?
A. Yellow B. white

C. violet D. None of these

PIGU XA B Gl w1 fberdl & 2

A. 760 fho#I0 B. 715 fdho#io

C. 750 fho#lo D. 150 fooHo

14




What is the total length of Konkan railway?

A. 760 kms B. 715 kms

C. 750 kms D. 150 kms

15
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Section-B (Non-Objective Type Quesitons)

o S U3 (Short Answer Type Questions)

U =T 1 ¥ 18 Td oY ST Bife & U B 3 o fhl 10 ueAl & S
a@ﬁnsowﬁamwzﬁmzmﬁﬁﬁaél (10x2=20)

Question no. 1 to 18 are Short answer type questions. Answer any 10 of

them in up to 50 words. Each question carries 2 marks. (10x2=20)

1, ASI Neld T 8 ?

What is metro railway?

2. TSl YUl & sl IR BRI BT Ieald HITY |

Mention any four causes of water pollution.

3. TRT & el SATed af Iodl & A9 forfRau |

Name two copper producing states of India.

4, Uf¥em YRT & < Menfired &3 & A 9ard |

Name two industrial regions of Western India.
5. YATH BT YATIId H-arel QT URTdy UF QT ey HRa! BT foalRay |

Write two push and two pull factors influencing migration.

6. YR & IR qE—IRaRl bl ford |

Name four linguistic families of India.

16
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7. IRA H B Fgell & 4 ford |
Name cropping seasons in India.
8 RA & &I ARFE o B SereRer SR |
Give examples of two naval ports of India.
9. IgUely AR ¥ fha <9 enfie 872
How many countries are included in multilateral trade?
10,  WOR Jarll F 3T FI7 FESA &2
What do you mean by communication services?
1. SIS 397 § ?
What is outsourcing?
12 9Rd &I & WER BHdl & AW fafay |
Write the names of two fibre crops of India.
13 MUY Sl & & SaeN <y |
Give two examples of basic industries.
14, ERAl B aRaIid & |
Define literacy.
15, A4 [qbN gaabie aar 87
What is human development index?
16.  FAARI UYARYT I AT T T3 27?

What do you mean by nomadic herding?

17



7. 9Rd & & RGeS TR & Tm e |

Name two cultural cities of India.
18. IRA ¥ I P SACDh Hgl & A9 9q7d |

Name two mica producing centres in India.

18




<l ST 93 (Long Answer Type Questions)

TS AT 19 W 24 b <" SORIG I & U 2| 399 ¥ fhsl 3 Yo & SR

HfErpad 120 TGl H T | TP U B U 5 3fp FuiRa & (3x5=15)

Question no. 19 to 24 are Long answer type questions. Answer any 3 of

them in 120 words. Each question carries 5 marks. (3x5=15)

19.

20.

21,

22.

23.

24.

 HYATE HHUHT BT U BT |

Describe the concept of possibilism.

799 faerg & A= SurmEl &1 arr S |

Explain different approaches to human development.

IRT § il a8 S & faa=or &7 fdavor Qg |

Give an account of the distribution of cotton textile industry in

India.
IRA ¥ =T B B B fad==1 S |

Discuss the cultivation of tea in India.

TR fgawe d Tsh URdaeET B T8l B quid HIfeT |

Describe the importance of road transport in Indian economy.

IR-RWRITT ol Sidi Dl gui BT |

Describe non-conventional sources of energy.
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